1-30

5/8 x 2 BOLT(2)

2" CHAN FRAMING (REF)

5/8 x 3 BOLT(2)
SFH-125(2)

5/8 FL WASHER(2)

SFC-2(4)
RS'\"")O“\_@ A 5/8 STRUT NUT(2)
=0
T
— u ______________ — P )
R [ HE A | )
| e . | H q
| | | | | |
- - o | |
: | A | | | |
| [ [ [ b _x- |
L— - N T~
! 21.50 | SEC A-A
CONNECTION OF:
TOP OF 7' x 23" BAY TO 2" CHAN
FRAMING (1" OFFSET) SFH-123

CHAN FRAMING(REF)

7 25 x1.13 HHCS
= w/ FLAT WASHER
4 —

(—]

2.50 !

CONNECTION OF:
CABLE BRACKET TO
2" CHANNEL FRAMING

(2" UNDER) SFH-644K

<07/26/11>
Moreng Telecom Products
973-237-2001
www.morengtel.com




